
525 SX SUPERMOTO 2004 <2004><EU><8501D9>
NEW PARTS

1782

Pos Part Number Description Additional Text Quantity

43* 0965050163 FLAT HEAD SCREW DIN0965-M 5X16 2.00

45* 0015060203 HH COLLAR SCREW M 6X20 WS=8 2.00

49* 58313009000 RUBBER BOOT DUKE 1.00

50* 58012040050 CLAMP MIRROW M10X1,25 1.00



51* 58713001000 HANDBRAKE CYL.DUKE ADJUST.2000 1.00

52* 58713002000 HAND BRAKE LEVER LOOSE ADJUST. 1.00

54* 58713004000 COVERING CAP FOR LEVER SCREW 1.00

55* 54413015000 LEVER SCREW CPL. 1.00

60* 58313050100 REPAIR KIT CPL. D=13MM 1.00

62* 58313012000 COVER BREMBO DUKE '94 1.00

71* 59413015044 %BR.CALIPER FR. CPL. 6-PIST.04 1.00

79* 80013019000 REPAIR KIT CPL. 6-PISTONS 04 1.00

80* 80013030000 BRAKE PAD SET FR. SINTER 1100S 1.00

80* 80013030100 BRAKE PAD SET FR.SINTER 1100R2 0.00

81* 59413011000 BRAKE HOSE FR. SMR L=1130MM 04 1.00

82 50213025000 HOLLOW SCREW M10X1X19 FC, FE+FS (USA) 2.00

83 42013026000 CU-SEAL RING DIN7603-10X16X1,5 1.00

84 42013226000 CU-SEAL RING DIN7603-10X16X1 3.00

86* 0125080003 washer DIN 125 A -8.4 2.00

87* 36003014000 LOCK WASHER 8MM 2.00

88* 0015080350 HH COLLAR SCR. M8X35 WS10 2.00

89 306054 BRAKE FLUID DOT 4.0 1/4 LITRE 1.00

90 6899785 LOCTITE 243 BLUE 5 ML 1.00
* = New part


